Chapter Two - Relationships





We met some useful sequences (such as 2,4,8,16,32,…) in the previous chapter. Now consider the sequence 2,4,6,8,10,12 and so on. This time the next number is obtained by adding two. Similarly, starting at, say, 3 and adding 3, we get 3, 6, 9, 12, 15, 18, … . We have, of course, arrived at the two and three times tables. Using the simple sequence 1, 2, 3, 4, … , writing the first ten terms of each sequence and ending with 10, 20, 30, 40, … ; we have the times-tables, to ten, in the form of a ‘hundred square’:
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Note that we have a hundred numbers in the square but that we don’t have all the numbers to one hundred - we are missing 11 and 13, for example. Also, the square has a certain symmetry. Drawing a diagonal line through the numbers 1, 4, 9, 16, … from top left to bottom right, we could ‘fold’ the square about this line and get an overlap with identical numbers one on top of the other. 
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